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FEEFIRX OORF304 IR FEEF2X OOE30H IR
BHES | BHERS | GOOEL | daR | WER | ®EK B1RE BHES | BHERE | GEIEH | ER)IK
1 =L & AEBERER 39,111 33,323 34,000 106,434 1 BA bk BALESR 24,580
2 EE FL AEER 4816 3,802 4,000 12,618 2 INK F=h i E BHRFE® 46,526
3 Ml vaHE BEHRERER 27,185 19,943 20,000 67,128 it 71,106
4 &2 MF=h | BR#EHOS 9,537 6,702 6,000 22,239
5 B o045 SRR 6,334 4719 4,000 15,053
it 86,983 68,489 68,000 223,472
FZEE (%) 97.21% 100.00% 92.96% FZE (%) 93.75%
A AMEEH 68,489 A BEMRES
B TR E? 1,705 B EMRES
c SEMH(A+B) 70,194 o] S EHRE(A+B)
D BiRY-Z0H 0 D HIgY- 20
E BEHH(CD) 70,194 E BEHH(CHD)
BT 081143 | | BERE T
FEREEIX 23B52 ) FETE FEEFIX OOE:30HIRTE
- T - - BRERE | ww
1 KeE P50 — 8,419 1 B3 f=mL BAREHFO= 8,000
2 ok fk BALESR 3,532 2 f=#% V&E BEHRER 18,000
3 mE MhFES AERER 22,078 3 BLD #B—ER AERER 24,000
4 W uAHNT BHRER 20,595 4 g X5 E BARLESR 2,000
Hi 54,624 Ha 52,000
FZE (%) 100.00% BZE (%) 88.34%
A FOEE 54,624 A BORE
B EWMRE 1,804 B EUWRE
o] S =B (A+B) 56,428 o] R EMH(A+B)
D BIRY -2t 2 D BIRY-Zz0H
E REEH(CD) 56,430 E BEEH(CHD)
EELSE] 23:52 | EELSeE]




